
Summer Review Packet for Students Entering Pre-Calculus 

Radicals: 

To simplify means that 1) no radicand has a perfect square factor and 

2) there is no radical in the denominator (rationalize).

Recall the Product Property Jo,, - J;, • ./b and the Quotient Property � 1 
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simplify 

multiply numerator & denominator by ✓2

multiply straight across and simplify 

If the denominator contains 2 terms, multiply the numerator and denominator by 

conjugate of the denominator (the conjugate of 3 + .fi is 3 -.fi) 

Simplify each of the following. 

1. ✓32 2. ✓(2x}8 

5. J¥

Rationalize. 

6. ✓60•✓105
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7. ( ✓5 -✓6 )( ✓5 +.fi)

3 10a. �2-v5 








































